### **TABULATION**



### **CAMERON COUNTY PURCHASING DEPARTMENT**

## ANNUAL QUOTES 2023 - 2024 - FLAG & FLAGPOLES AS PER ANNUAL WRITTEN QUOTES DEADLINE 4/26/2024, 4PM

FROM: MAY 3, 2024 - MAY 2, 2025

I HEREBY CERTIFY THE ABOVE TO BE THE CORRECT QUOTES RECEIVED:

APPROVED BY ROLLING LUNA PURCHASING DEPT.

VENDOR'S NAME  TELEPHONE #  NAME OF REP.		LADY LIBE FLAG 877-352-47 288 6001 W WILLI SUI AUSTIN, Jacob, C	PRIMARY LADY LIBERTY FLAG & FLAGPOLE 877-352-4755 512- 288-2255 6001 W WILLIAM CANNON DR, SUITE 300  AUSTIN, TX 78749 Jacob, Christian, & Courtney		SECONDARY AUSTIN FLAG & FLAGPOLE 512-292-0999 5214 BURLESON RD #101 AUSTIN, TX 78744 Kathryn Escobar		TERTIARY ASSOCIATED BULDERS SPECIALTIES, INC 713-661-9222 7106 MAPLERIDGE STREET HOUSTON, TX 77081 JEFF GIFFORD-WEAVER	
	MAINE OF REF.							
POLYESTER		Est. Qty.	UNIT PRICE	Est. Qty.	UNIT PRICE	Est. Qty.	UNIT PRICE	
3 X 5	US FLAG POLY MAX-TOUGH TEX	80 EA	\$ 41.52	80 EA	\$ 48.99	80 EA	\$ 56.00	
3 X 5	TEXAS FLAG POLY MAX-TOUGH TEX	80 EA	\$ 41.04	80 EA	\$ 41.99	80 EA	\$ 73.00	
4 X 6	US FLAG POLY MAX-TOUGH TEX	20 EA	\$ 59.36	20 EA	\$ 68.99	20 EA	\$ 77,00	
4 X 6	TEXAS FLAG POLY MAX-TOUGH TEX	20 EA	\$ 55.84	20 EA	\$ 69.99	20 EA	\$ 94.00	
5 X 8	US FLAG POLY MAX-TOUGH TEX	10 EA	\$ 89,52	10 EA	\$ 78,99	10 EA	\$ 98.00	
5 X 8	TEXAS FLAG POLY MAX-TOUGH TEX	10 EA	\$ 79.52 \$ 99.92	10 EA	\$ 88,99 \$ 123,40	10 EA	\$ 116.00 \$ 151.00	
5 X 8	MEXICAN FLAG POLY-MAX-TOUGH TEX	10 EA	\$ 99.92 \$ 466.72	10 EA	\$ 123,40 \$ 521,34	IUCA	\$ 665.00	
NYLON		Est. qty.	UNIT PRICE	Est. qty.	UNIT PRICE	Est. qty.	UNIT PRICE	
3 X 5	US FLAG NYLON MAX-TOUGH TEX	15 EA	\$ 29.44	15 EA	\$ 29.99	15 EA	\$ 49.00	
3 X 5	TEXAS FLAG NYLON MAX-TOUGH TEX	15 EA	\$ 27.20	15 EA	\$ 29.99	15 EA	\$ 49.00	
						10 EA		
4 X 6	IUS FLAG NYLON MA - LUUGH TEX	10 FA	\$ 43.84	TIUEA	\$ 39.99		\$ 59.00	
	US FLAG NYLON MA -TOUGH TEX TEXAS FLAG NYLON MAX-TOUGH TEX	10 EA	\$ 43.84 \$ 35.20	10 EA 10 EA	\$ 41.99	10 EA	\$ 73.00	
						-		
4 X 6			\$ 35,20		\$ 41.99	-	\$ 73.00	
4 X 6		10 EA	\$ 35,20 \$ 135.68	10 EA	\$ 41.99 \$ 141.96	10 EA	\$ 73,000 \$ 230.000	
4 X 6	TEXAS FLAG NYLON MAX-TOUGH TEX	Est. qty.	\$ 35.20 \$ 135.68	10 EA	\$ 41.99 \$ 141.96	10 EA	\$ 73.00 \$ 230.00 UNIT PRICE	
4 X 6  OTHER: 5/16 in.	TEXAS FLAG NYLON MAX-TOUGH TEX  WIRE CENTER POLYESTER FLAGPOLE - 100 FOOT SPOOL INDUSTRIAL GRADE – HIGH UV & ABRASION RESITANCE	Est. qty.	\$ 35.20 \$ 135.68 UNIT PRICE \$ 124.00	10 EA	\$ 41.99 \$ 141.96 UNIT PRICE \$ 110.00	10 EA	\$ 73.00 \$ 230.00 UNIT PRICE \$ 60.00	
4 X 6  OTHER: 5/16 in.	TEXAS FLAG NYLON MAX-TOUGH TEX  WIRE CENTER POLYESTER FLAGPOLE - 100 FOOT SPOOL INDUSTRIAL GRADE — HIGH UV & ABRASION RESITANCE TAMPER RESISTANT STEEL CABLE CORE	Est. qty.	\$ 35,20 \$ 135.68 UNIT PRICE \$ 124.00	Est. qty.	\$ 41.99 \$ 141.96 UNIT PRICE \$ 110.00	Est. qty.	\$ 73.00 \$ 230.00 UNIT PRICE \$ 60.00	
4 X 6  OTHER: 5/16 in.	TEXAS FLAG NYLON MAX-TOUGH TEX  WIRE CENTER POLYESTER FLAGPOLE - 100 FOOT SPOOL INDUSTRIAL GRADE — HIGH UV & ABRASION RESITANCE TAMPER RESISTANT STEEL CABLE CORE	Est. qty.	\$ 35,20 \$ 135.68 UNIT PRICE \$ 124.00	Est. qty.	\$ 41.99 \$ 141.96 UNIT PRICE \$ 110.00	Est. qty.	\$ 73.00 \$ 230.00 \$ 0.00 \$ 60.00 \$ 10.00 \$ 70.00	
	WIRE CENTER POLYESTER FLAGPOLE - 100 FOOT SPOOL INDUSTRIAL GRADE — HIGH UV & ABRASION RESITANCE TAMPER RESISTANT STEEL CABLE CORE  4 i SOLID BRASS SWIVEL BOLT SNAP	Est. qty.	\$ 35.20 \$ 135.68 UNIT PRICE \$ 124.00 \$ 10.82 \$ 134.82	Est. qty.	\$ 41.99 \$ 141.96 UNIT PRICE \$ 110.00 \$ 7.00 \$ 117.00	Est. qty.	\$ 73.00 \$ 230.00 \$ UNIT PRICE \$ 60.00 \$ 70.00	

MAINTENANCE & OPERATION PEDRO HINOJOSA - DATE



#### **CAMERON COUNTY PURCHASING**

CAMERON COUNTY, TEXAS
1100 E. Monroe Street
Brownsville, Texas 78523
TELEPHONE (956) 544-0871 FAX (956) 550-7219

ROBERTO LUNA, CPM, CTCD, CTCM PURCHASING AGENT

#### Annual Written Quotation

INFORMAL BIDS

REQUEST FOR WRITTEN QUOTATION - \$3,000 - \$24,999 (\$15,000 -\$24,999 WITH COMM, COURT APPROVAL ONLY)

DEPARTMENT REQUESTING QUOTE:  Maintenance & Operations	PERSON REQUESTING QUOTE:  Jaime Buentello/Pedro Hinojosa			PHONE: (956) 982-5431	
DATE QUOTES ARE BEING FAXED OUT TO ALL BIDDERS AND PUR	CHASING DEP	т.:	4/23/24		
NOTE TO VENDOR: THIS IS NOT AN ORDER (VENDOR MUST HAVE A PURCHASE ORDER NO. BEFORE PROCEEDING IN	I ANY MANNER)	Pricing	must be filled	in by the company	
DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL NET PRICE	
PLEASE SEE SECOND PAGE FOR SPECIFICATIONS					
MUST SUBMIT ALL 3 PAGES (INCLUDING THIS FORM).	1				
Not enough lines items to include quote in this form.	1 1				
Co-op pricing will also be considered - Please specify contract #	+		TOTAL		
Do you service the product being quoted?  If "yes", where is the closest service center?  If "no", who will service and where?  Did you disclose the above quote prices to any County Employee or other individual  COMPANY  ADOVE Prices are F.O.B. Destination - Inside Delivery  Quoted Prices good for 365 days. (F	Terms.	2%	DATE_	No 24-2024 NET 30 nless otherwise stated)	
	Delivery date to 0		-uj		
All property of Cameron County must remain in the United States at all times - without	-		oval has been gr	ren by Commissioners Cou	
PLEASE FAX COMPLETED REQUEST TO FAX NO. (956) 550					
DELIVER OR MAIL TO CAMERON COUNTY PURCHASING DEPART			ST., BROWNS\	/ILLE, TEXAS 78520	
ATTN: PURCHASING DEPARTMENT FOR QUESTION	NS CALL (956) 5	44-0871 DAT	re	TIME	
				T 4:00 pm	
QUOTE DEADLINE: MUST BE RECEIVED IN THE COUNTY PURCHASIN (MUST ALLOW AT LEAST 4 BUSINESS DAYS TO DEADLINE DATE FOR AM	VARD, UNLESS T	THE NEED	IS BASED ON	I AN EMERGENCY)	
If all (3) three quotations have not been received (as required by Commextended to comply with 3 quotes minimum requirement, Vendors that h	ave already subn	nitted quote	auon deadline, es prior to the d	eadline may requote	
(if they so desire) during the time of exter	nsion (revision da	te) period			

WRITTEN QUOTATIONS WILL BE HELD "CONFIDENTIAL" BY PURCHASING DEPARTMENT UNTIL DEADLINE, AT WHICH TIME VENDORS AND DEPARTMENT STAFF REQUESTING QUOTES ARE WELCOME TO BE PRESENT FOR READING OF PRICES.

All quotation requirements may not be changed by verbal notification - but can only be changed in writing by issuance of a revised quotation.



# RECEIVED By LROBERTS at 1:07 pm, Apr 24, 2024

## ANNUAL WRITTEN QUOTES FLAGS & FLAG POLES FOR COUNTY DEPARTMENTS

PAGE 2

### **UPDATED LIST OF FLAGS & FLAG POLES ON AN ANNUAL QUOTES**

POLYE	STER	Est. qty. UNIT PRICE EXTENDED PRICE	
3 X 5	US FLAG POLY MAX-TOUGH TEX	80 EA \$41.52 \$ 3321.6	<b>5</b>
3 X 5	TEXAS FLAG POLY MAX-TOUGH TEX	80 EA \$41.04 \$ 3233.2	-0
4 X 6	US FLAG POLY MAX-TOUGH TEX	20 EA \$59.36 \$1187.2	<b>o</b>
4 X 6	TEXAS FLAG POLY MAX-TOUGH TEX	20 EA \$55.84 \$ 1116.5	30
5 X 8	US FLAG POLY MAX-TOUGH TEX	10 EA \$39.52 \$895.2	<u>. S</u>
5 X 8	TEXAS FLAG POLY MAX-TOUGH TEX	10 EA \$79.52 \$795.2	_0
5 X 8	MEXICAN FLAG POLY MAX-TOUGH TEX	10 EA \$99.92 \$ 999.2	<u>o</u>
NYLON	1	Est. qty. UNIT PRICE EXTENDED PRICE	
3 X 5	US FLAG NYLON MAX-TOUGH TEX	15 EA \$29.44 \$441. 40	>
3 X 5	TEXAS FLAG NYLON MAX-TOUGH TEX	15 EA \$27.20 \$408	
4 X 6	US FLAG NYLON MA -TOUGH TEX	10 EA \$43,84 \$438.4	0
4 X 6	TEXAS FLAG NYLON MAX-TOUGH TEX	10 EA \$35.20 \$352	
OTHER	<u>:</u>	Est. qty. UNIT PRICE EXTENDED PRICE	
li li	n. Wire Center Polyester Flagpole -100 foot spoo ndustrial Grade – High UV & Abrasion Resistance Tamper Resistant Steel cable core		
1 ¼ in.	x 4 ¼ in. Solid Brass Swivel Bolt Snap	30 EA \$10,92 \$324, Le	<u>o</u>
DELIVE	RY OR SHIPPING FEES - ESTIMATE ONLY	1EA	94
	TOTAL	\$737.22 \$ 14,2	207. 94
*CO-O	P PRICING WILL ALSO BE CONSIDERED – PLEASE SPECIFY CO-OP VENDOR NAME	& CO-OP CONTRACT #	

### **OPTIONAL QUOTE - MISCELLANEOUS LIST**

ON ALL OTHER MISCELLANEOUS FLAGS & FLAG POLE SUPPLY ITEMS **NOT LISTED** ON PRIMARY QUOTE ABOVE, CAMERON COUNTY WILL RECEIVE **20** % OFF DISCOUNT FROM CATALOG LIST PRICES.

<sup>\*\*</sup>CATALOG WITH LIST PRICES MUST ACCOMPANY ALL ANNUAL QUOTES SUBMITTED. \*\*

Company Name: LADY LIBERTY FLAG	2 FLAGPOLE PAGE 3
Address 6001 W. WILLIAM CAN	(City/State/Zip)
Bidder's Name: 凸ポパケロム GRIBB LE Signatur	18749
Telephone 512-299-2255 Date 4-24-2024	RECEIVED By LROBERTS at 1:07 pm, Apr 24, 2024

**NOTE:** CAMERON COUNTY RESERVES THE RIGHT AND/OR OPTION TO AWARD ANNUAL CONTRACT FOR FLAGS & FLAG POLE BY INDIVIDUAL LINE ITEM.

<sup>\*\*</sup> MUST SUBMIT PAGES 1 - 3 TO COMPLETE ANNUAL WRITTEN QUOTE SUBMITTAL.

### **CAMERON COUNTY PURCHASING**

CAMERON COUNTY, TEXAS 1100 E. Monroe Street Brownsville, Texas 78523 TELEPHONE (956) 544-0871 FAX (956) 550-7219

ROBERTO LUNA, CPM, CTCD, CTCM PURCHASING AGENT

### **Annual Written Quotation**

INFORMAL BIDS

REQUEST FOR WRITTEN QUOTATION - \$3,000 - \$24,999 (\$15,000 -\$24,999 WITH COMM. COURT APPROVAL ONLY)

DEPARTMENT REQUESTING QUOTE:  Maintenance & Operations	PERSON REQUESTING QUOTE:  Jaime Buentello/Pedro Hinojosa			PHONE: (956) 982-5431
DATE QUOTES ARE BEING FAXED OUT TO ALL BIDDERS AND PUR	CHASING DEF	PT.:	4/23/24	i .
NOTE TO VENDOR: THIS IS NOT AN ORDER  (VENDOR MUST HAVE A PURCHASE ORDER NO. BEFORE PROCEEDING IN	I ANY MANNER	) Pricin	g must be filled i	in by the company
DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL NET PRICE
PLEASE SEE SECOND PAGE FOR SPECIFICATIONS				see attached page
MUST SUBMIT ALL 3 PAGES (INCLUDING THIS FORM).	-			
Not enough lines items to include quote in this form.				
The second secon			TOTAL	
Co-op pricing will also be considered - Please specify contract #		N/A	TOTAL	
Total installation cost (if applicable) Yes o:  Warranty period on items bid:	NO War			
Cost and period of extended warranty available:	NO THE	N/A		
Do you service the product being quoted?		Yes		
If "yes", where is the closest service center?	5214 Burelson Rd.	Ste 101 Aus	In TX 78744	
If "no", who will service and where?				
Did you disclose the above quote prices to any County Employee or other individua	prior to submittir	ng this quo	ote? Yes	No ✓
COMPANY Austin Flag and Flagpole SIGNATURE	OUL VOC	Day.	DATE_C	04/25/2024
Above Prices are F.O.B. Destination - Inside Delivery	Terms			
Quoted Prices good for 365 days. (F	irm unless othe	rwise sta	(2% - 10th un ted)	less otherwise stated)
When asked to ship	Delivery date to		N/A	
All property of Cameron County must remain in the United States at all times - without	exception - unles	s prior app	roval has been give	en by Commissioners Court
PLEASE FAX COMPLETED REQUEST TO FAX NO. (956) 550	1-7219, or E-MAI	L vendo	r.quote@co.cam	eron.tx.us
DELIVER OR MAIL TO CAMERON COUNTY PURCHASING DEPART	MENT 1100 E. I	MONROE	ST., BROWNSV	ILLE, TEXAS 78520
ATTN: PURCHASING DEPARTMENT FOR QUESTION	NS CALL (956) 5			TILET
			ATE	TIME
QUOTE DEADLINE: MUST BE RECEIVED IN THE COUNTY PURCHASING (MUST ALLOW AT LEAST 4 BUSINESS DAYS TO DEADLINE DATE FOR AN	NG OFFICE BY: VARD, UNLESS	04/26/2024 THE NEE		AN EMERGENCY)
If all (3) three quotations have not been received (as required by Commextended to comply with 3 quotes <i>minimum requirement</i> . Vendors that h				

WRITTEN QUOTATIONS WILL BE HELD "CONFIDENTIAL" BY PURCHASING DEPARTMENT UNTIL DEADLINE, AT WHICH TIME VENDORS AND DEPARTMENT STAFF REQUESTING QUOTES ARE WELCOME TO BE PRESENT FOR READING OF PRICES.

(if they so desire) during the time of extension (revision date) period.

All quotation requirements may not be changed by verbal notification - but can only be changed in writing by issuance of a revised quotation.



# RECEIVED By LROBERTS at 12:01 pm, Apr 25, 2024

## ANNUAL WRITTEN QUOTES FLAGS & FLAG POLES FOR COUNTY DEPARTMENTS

PAGE 2

### **UPDATED LIST OF FLAGS & FLAG POLES ON AN ANNUAL QUOTES**

POLYESTER		Est. qty.	UNIT PRICE	EXTENDED PRICE	
3 X 5	US FLAG POLY MAX-TOUGH TEX	80 EA	48.99	<u>3,919.20</u>	
3 X 5	TEXAS FLAG POLY MAX-TOUGH TEX	80 EA	41.99	<u>3,359.20</u>	
4 X 6	US FLAG POLY MAX-TOUGH TEX	20 EA	<u>68.99</u>	<u>1,389.80</u>	
4 X 6	TEXAS FLAG POLY MAX-TOUGH TEX	20 EA	69.99	<u>1,399.90</u>	
5 X 8	US FLAG POLY MAX-TOUGH TEX	10 EA	78.99	<u>789.90</u>	
5 X 8	TEXAS FLAG POLY MAX-TOUGH TEX	10 EA	88.99	<u>889.90</u>	
5 X 8	MEXICAN FLAG - NYLON ONLY	10 EA	123.40	<u>1,234.00</u>	
NYLON	1	Est. qty.	UNIT PRICE	EXTENDED PRICE	
3 X 5	US FLAG NYLON MAX-TOUGH TEX	15 EA	29.99	449.85	
3 X 5	TEXAS FLAG NYLON MAX-TOUGH TEX	15 EA	29.99	449.85	
4 X 6	US FLAG NYLON MA -TOUGH TEX	10 EA	39.99	<u>399.90</u>	
4 X 6	TEXAS FLAG NYLON MAX-TOUGH TEX	10 EA	41.99	<u>419.90</u>	
OTHER	<u>:</u>	Est. qty.	UNIT PRICE	EXTENDED PRICE	
5/16 in. Wire Center Polyester Flagpole -100 foot spool					
	ndustrial Grade – High UV & Abrasion Resistan Tamper Resistant Steel cable core	ce – 2 EA	<u>110.</u> 00	220.00	
1 ¼ in.	x 4 ¼ in. Solid Brass Swivel Bolt Snap	30 EA	7.00	210.00	
DELIVE	RY OR SHIPPING FEES - ESTIMATE ONLY	1 EA	<u>1,0</u>	00.00	
	тот	AL	<u>16,0</u>	<u> </u>	
*CO-OI	*CO-OP PRICING WILL ALSO BE CONSIDERED – PLEASE SPECIFY CO-OP VENDOR NAME N/A & CO-OP CONTRACT # N/A				

### **OPTIONAL QUOTE - MISCELLANEOUS LIST**

<sup>\*\*</sup>CATALOG WITH LIST PRICES MUST ACCOMPANY ALL ANNUAL QUOTES SUBMITTED. \*\*

Company Name: Austin Flag and Flagpole

Address: 5214 Burleson Rd. Ste 101

Austin TX 78744 (City/State/Zip)

Bidder's Name: Kathryn Escobar Signature: Kathryn Escobar

Telephone: <u>512-292-0999</u> Date: <u>4/25/2024</u>

\*\* MUST SUBMIT PAGES 1 - 3 TO COMPLETE ANNUAL WRITTEN QUOTE SUBMITTAL.

**NOTE:** CAMERON COUNTY RESERVES THE RIGHT AND/OR OPTION TO AWARD ANNUAL CONTRACT FOR FLAGS & FLAG POLE BY INDIVIDUAL LINE ITEM.

### RECEIVED By LROBERTS at 4:20 pm, Apr 25, 2024



### **CAMERON COUNTY PURCHASING**

CAMERON COUNTY, TEXAS 1100 E. Monroe Street Brownsville, Texas 78523 TELEPHONE (956) 544-0871 FAX (956) 550-7219

ROBERTO LUNA, CPM, CTCD, CTCM PURCHASING AGENT

### Annual Written Quotation

INFORMAL BIDS

REQUEST FOR WRITTEN QUOTATION - \$3,000 - \$24,999 (\$15,000 -\$24,999 WITH COMM. COURT APPROVAL ONLY)

DEPARTMENT REQUESTING QUOTE: Maintenance & Operations	PERSON REQUESTING QUOTE:  Jaime Buentello/Pedro Hinojosa			PHONE: (956) 982-5431	
DATE QUOTES ARE BEING FAXED OUT TO ALL BIDDERS AND PUR	.CHASING DEPT.: 4/		4/23/24		
NOTE TO VENDOR: THIS IS NOT AN ORDER (VENDOR MUST HAVE A PURCHASE ORDER NO. BEFORE PROCEEDING IN	I ANY MANNER	Pricing	j must be filled i	n by the company	
DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL NET PRICE	
PLEASE SEE SECOND PAGE FOR SPECIFICATIONS					
MUST SUBMIT ALL 3 PAGES (INCLUDING THIS FORM).					
	-				
Not enough lines items to include quote in this form.					
Co-op pricing will also be considered - Please specify contract #			TOTAL	\$ 20,850.00	
D-19-10-14-14-14-14-14-14-14-14-14-14-14-14-14-	ot applicable. Flags/mat	- 21-97:00-			
Warranty period on items bid: flags do not generally carry warranty once they are Cost and period of extended warranty available:	flying. We provide free	ly end repairs N/A	on our flags as needed.	General warranty is 2-3 months.	
( ) - ( ) -	moairs on flans ourcha		ou just nav for shinning	nack to you	
If "no", who will service and where?					
Did you disclose the above quote prices to any County Employee or other individual COMPANY Associated Builders Specialties, Inc.	prior to submittin	g this quo		No 🗸	
Above Prices are F.O.B. Destination - Inside Delivery	Terms	Net 30	(2% - 10th unl	ess otherwise stated)	
Quoted Prices good for 365 days. (F	irm unless othe	rwise sta	ted)	ood daterinse stated,	
Shipment will be made from: Houston, Texas	Delivery date to	County	approximately 5-1	0 working days	
All property of Cameron County must remain in the United States at all times - without	exception - unles:	prior app	roval has been give	en <mark>by Commissioners Court.</mark>	
PLEASE FAX COMPLETED REQUEST TO FAX NO. (956) 550	-7219, or E-MAI	L vendo	r.quote@co.cam	eron.tx.us	
DELIVER OR MAIL TO CAMERON COUNTY PURCHASING DEPART	MENT 1100 E. I	<b>IONROE</b>	ST., BROWNSVI	LLE, TEXAS 78520	
ATTN: PURCHASING DEPARTMENT FOR QUESTION	1S CALL (956) 5			TIME	
		DA	TE	TIME	
QUOTE DEADLINE: MUST BE RECEIVED IN THE COUNTY PURCHASIN (MUST ALLOW AT LEAST 4 BUSINESS DAYS TO DEADLINE DATE FOR AW				4:00 pm AN EMERGENCY)	
If all (3) three quotations have not been received (as required by Commi extended to comply with 3 quotes minimum requirement. Vendors that h					
(if they so desire) during the time of exten	sion (revision da	te) period			

WRITTEN QUOTATIONS WILL BE HELD "CONFIDENTIAL" BY PURCHASING DEPARTMENT UNTIL DEADLINE, AT WHICH TIME VENDORS AND DEPARTMENT STAFF REQUESTING QUOTES ARE WELCOME TO BE PRESENT FOR READING OF PRICES.

All quotation requirements may not be changed by verbal notification - but can only be changed in writing by issuance of a revised quotation.

(copies of quotations will be given to department staff to attach to requisitions)



# RECEIVED By LROBERTS at 4:20 pm, Apr 25, 2024

### ANNUAL WRITTEN QUOTES FLAGS & FLAG POLES FOR COUNTY DEPARTMENTS

PAGE 2

### **UPDATED LIST OF FLAGS & FLAG POLES ON AN ANNUAL QUOTES**

POLYE	STER	Est. qty	. UNIT PRICE	EXTENDED PRICE
3 X 5	US FLAG POLY MAX-TOUGH TEX	80 EA	56.00	4,480.00
3 X 5	TEXAS FLAG POLY MAX-TOUGH TEX	80 EA	73.00	5,840.00
4 X 6	US FLAG POLY MAX-TOUGH TEX	20 EA	77.00	1,540.00
4 X 6	TEXAS FLAG POLY MAX-TOUGH TEX	20 EA	94.00	1,880.00
5 X 8	US FLAG POLY MAX-TOUGH TEX	10 EA	98.00	980.00
5 X 8	TEXAS FLAG POLY MAX-TOUGH TEX	10 EA	116.00	1,160.00
5 X 8	MEXICAN FLAG BOXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	10 EA	151.00	1,510.00
	All-weather nylon - polyester not available			
NYLON	[	Est. qty	. UNIT PRICE	EXTENDED PRICE
3 X 5	US FLAG NYLON KWXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	15 EA	49.00	735.00
3 X 5	TEXAS FLAG NYLON KIMXXIXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	15 EA	49.00	735.00
4 X 6	US FLAG NYLON MAXYXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	10 EA	59.00	590.00
4 X 6	TEXAS FLAG NYLON XMXXXYOVXXXXXXX	10 EA	73.00	730.00
OTHER	<u>:</u> n. Wire Center Polyester Flagpole -100 foot spo		. UNIT PRICE	EXTENDED PRICE
It	ndustrial Grade – High UV & Abrasion Resistand Tamper Resistant Steel cable core		60.00	120.00
1 ¼ in.	x 4 ¼ in. Solid Brass Swivel Bolt Snap	30 EA	10.00	300.00
DELIVE	RY OR SHIPPING FEES - ESTIMATE ONLY	1 EA	<b>V</b>	250.00 / all items
	TOTA	L.	20,88	50.00
*CO-OF	PRICING WILL ALSO BE CONSIDERED — PLEASE SPECIFY CO-OP VENDOR NAMEN	/A	& CO-OP CC	NTRACT#

#### OPTIONAL QUOTE - MISCELLANEOUS LIST

ON ALL OTHER MISCELLANEOUS FLAGS & FLAG POLE SUPPLY ITEMS **NOT LISTED** ON PRIMARY QUOTE ABOVE, CAMERON COUNTY WILL RECEIVE \_\_\_\_\_\_\_ % OFF DISCOUNT FROM CATALOG LIST PRICES.

<sup>\*\*</sup>CATALOG WITH LIST PRICES MUST ACCOMPANY ALL ANNUAL QUOTES SUBMITTED. \*\*

PAGE 3

Company Name: Associated Builders Specialties, Inc dba	Kronberg's Flags and Flagpoles				
Address_ 7106 Mapleridge Street Houston, Texas 77	081				
	(City/State/Zip)				
Bidder's Name:					
Telephone 713-661-9222 Date 04/25/2024	RECEIVED By LROBERTS at 4:20 pm, Apr 25, 2024				

**NOTE:** CAMERON COUNTY RESERVES THE RIGHT AND/OR OPTION TO AWARD ANNUAL CONTRACT FOR FLAGS & FLAG POLE BY INDIVIDUAL LINE ITEM.

<sup>\*\*</sup> MUST SUBMIT PAGES 1 - 3 TO COMPLETE ANNUAL WRITTEN QUOTE SUBMITTAL.